




1

2

3

4

5

6

7

8

9

10

11

12

13

14 15

2



PARTS LIST
Unit(mm)

3

①1202x302x40mm

1 1 1

1 1 1

1 1 1

1 1 1

1 1 1

②1168x298x12mm ③1168x81x15mm

④1168x81x15mm ⑤448x299x15mm ⑥355x281x15mm

⑦448x299x15mm ⑧1178x181x3mm ⑨1178x181x3mm

⑩299x278x12mm ⑪1200x300x12mm ⑫841x139x12mm

⑬841x121x12mm ⑭841x98x12mm ⑮847x338x15mm



A

x1

4

HARDWARES LIST

B

x2

C M4x10

x2

D M5 x 40

x26

E φ6 x 30

x20

F M4x20

x2

G

x1

H

x1

I

x12

J M3x14

x31
K M3.5x18

x6

L M3x25

x10

M

x4

N  14.5x9x1167

x1

O 41x35x20

x3

P

x1

Q

x8

TOOLS
    M3

x1

TOOLS
    M4

x1



INSTALLATION STEPS

1 YOU WILL NEED

E x 2

2 YOU WILL NEED

D x 2

D

D

6

5

2

Insert E into Part 6 firstly.
If it is too tight, you can use a hammer
to help you complete this step.

21

6E

E



6

3 YOU WILL NEED

E x 4

4

Front

INSTALLATION STEPS

YOU WILL NEED

D x 6

Insert E into Part 3 and 4 firstly.
If it is too tight, you can use a hammer
to help you complete this step.

21

E

E

E

E

4

3

4

3

2
D

D

D

D

D

D



D

D

D

E

7

5 YOU WILL NEED

E x 8

6

INSTALLATION STEPS

YOU WILL NEED

D x 12

5

7

E

E

2 6

E

Insert E into Part 3 and 4 firstly.
If it is too tight, you can use a hammer
to help you complete this step.

21

E

E

E

E

62

4

D

DD
D

D

D

D

D

D

4



H

9

9

H x1

8

8

N

9

8

7 YOU WILL NEED

8

INSTALLATION STEPS

YOU WILL NEED

N x 1

5

7
6



D
D

D

D

D
D

11

9

E x 6
9 YOU WILL NEED

10

INSTALLATION STEPS

YOU WILL NEED

D x 6

7

5

6

7

5

6

Insert E into Part 5,6 and 7 firstly.
If it is too tight, you can use a hammer
to help you complete this step.

21

E
E

E
E

E
E



15
A

A

k

kk

k
k

k

J

J
J

J

J

J

J

J
J
J

J

J

10

11 YOU WILL NEED

12

INSTALLATION STEPS

YOU WILL NEED

I x 12

K x 6

Q

QQ

QQ

Q
Q

Q

Q

J

I

11

9

8

J x 12 Q x 8

k

kk

A x 1



F

G

F

14

11

13 YOU WILL NEED

14

INSTALLATION STEPS

YOU WILL NEED

L x 4

L

L

L

L

L

L

L

L

L
L

13

L x 4 F x 2

L

L

15

15

G x 1



12

15 YOU WILL NEED

INSTALLATION STEPS

L

L

12

B x 2
16 YOU WILL NEED

Lx 2

C
B

L

CB

BC

5

6

C x 2



1

1

J J

J J

J J

J J

J

J J
J

J
J

J

J J

J
J

O

O

O

P

O

J

J
J

Model: RS-63

Huizhou Jianuo Industrial Co.,

LtdAdd: Dongwu Industrial Zone,

Jiaoyuan Road, Shiwan Town,

Boluo County, Huizhou City,

Guangdong Province, China.

Made in China

73

3

13

17 YOU WILL NEED

INSTALLATION STEPS

18 YOU WILL NEED

J x 6 O x 3

J x 13 P x 1

J

J



M

10

7

14

19 YOU WILL NEED

INSTALLATION STEPS

M x 4

M

M
M

M



Model: RS-63
Huizhou Jianuo Industrial Co.,Ltd
Add: Dongwu Industrial Zone, Jiaoyuan Road,
Shiwan Town, Boluo County, Huizhou City,
Guangdong Province, China.

Made in China


